S 5 HERE FARP Ry b2 —  KERESE [—BRKEHEA]
it AN K
H H 1A 5H 64 7H 8H 9H 10AH 11AH 12H 1H 2H 3A pas) R FEUN
pH 7.3 7.3 7.2 7.3 7.2 7.2 7.2 7.2 7.2 7.2 7.3 7.3 7.4 74 73 74 74 74 7.5 7.5 74 7.6 74 7.6 7.3 7.6 7.2
(mS?L) 130 150 150 120] 170|140  180]  120]  160|  140|  130| 140 71 99|  160]  120] 130 94| 100 93 1200 11o| 1200 1200 130 180 71
(i?/]i) 300/ 2000 240 260 250  230]  240|  230| 270 230 230 200] 210 190] 250 160| 230 200] 200] 180] =210] 180| 260 190 220 300] 160
(ﬁgo/rf) 40| 130 1200 130 140 130] 150]  130]  1o0o| 130 130 130 130 110] 120] 110] 120 120 120 100| 120 130]  110]  120] 120 150 100
0
j‘(?gfﬁfﬁ 1.7E+05|2.4E+05|9.9E+04| 1.3E+05| 2. 1E+05| 1.9E+05 | 2.7E+05| 4.7E+05| 3. 1E+05| 3. 1E+05| 2.3E+05| 2.9E+05| 1.6E+05| 1.8E+05| 1.2E+05| 1.5E+05| 1.4E+05| 1.7E+05|9.0E+04| 8.8E+04 | 5.4E+04 | 1.3E+05| 6.8E+04|8.0E+04| 1.8E+05| 4.7E+05| 5.4E+04
Jitiok R IR O 101 2L T B
H OH 45 5H 61 TH 8H 9H 10H 11H 12H 1H 2H 3H S [N Iy | o e
pH 7.1 7.2 7.2 7.1 7.2 7.2 7.3 73] 73 7.6 7.5 74 7.4 72| 73 7.3 7.2 7.3 7.2 7.2 7.2 7.2 7.2 7.2 7.3 7.6 71| 8L
90
(mS?L) 3.4 3.2 2.4 2.9 2.4 3.0 2.5 2.2 3.8 5.4 3.8 3.4 2.7 3.6 3.3 4.2 3.9 5.5 6.0 5.7 4.8 5.2 5.3 5.0 3.9 6.0 2.2 s
70
BOD 25
(me/L) 2.6 2.5 1.8 2.8 0.9 2.2 1.3 2.2 8.3 2.2 1.9 1.6 2.1 1.8 2.0 1.9 1.7 2.4 1.1 3.4 2.3 3.7 3.4 3.2 2.6 8.3 0.9| 5P
20
C-BOD
(ne/L) 2.5 2.1 1.6 21| <05 2.1 1.1 1.9 7.1 1.8 1.7 1.1 1.5 1.3 1.8 1.4 1.5 2.1 3.9 3.2 2.1 3.4 3.1 2.9 2.2 7.1]  <05| -
CcoD , . . . . . . . . . ] X X
(e/L) 15 16 14 14 12 13 12 12 14 13 13 12 12 12 11 12 10 14 16 16 17 17 19 17 14 19 o] -
KIGEHEA C[heas
Ul o) 0 0 0 0 0 0 0 0 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 1 o "¥%o0




SR 5 G ERTREHE A — KERERE | eR %]
Sk E B FIREAE 0 L COESEA R (7 mg/L)
H H 15 5 6 7 8 9 10 A 11 A 12 A 1A 2 1 3 A Ty | ok | b | B
n~YVIET | co5i <0.5] <050 <o5| <051 <05| <o.5i <05| <0.5i <05 <050 <o.5| <050 <05| <050 <05] <050 <05 131 13| 12t 1| 13! 12| <0s| 13| <05 5
7=/ /A <0.1 -| <04 -| <04 -| <01 -| <04 -| <04 -| <04 -| <04 -| <04 -| <01 -| <04 -| <04 -l <0a| <o.1| <o 1
5 0.02¢ 0.02] 0011 0.03] 003! 0.03]| 002} 0.02] <0.01i <0.01] 0.01} 0.01] 0.01] o0.01] <0.01i 0.01]| <0.01i <0.01] 0.01 ¢ <0.01 <0.01i 0.01| 0.01¢ <o.01] 0.01] 0.03] <0.01 2
[ 0.01 ¢ 0.02] 0011 0.02] 002! 0.02] <0.01f 0.02] 0.01{ 0.01| <0.01! 0.02] 0.01f 0.01] <0.01i 0.02] 0.01¢ 0.01] 0.02¢ 0.01] 0.01¢ 0.02| 0.02¢ o0.02] 0.01] 0.02] <0.01 2
VEIRTESK 040! 0.38] 0291 0.30| 017! 0.20] 018! 018| 012! o020 012! o0.11| o011 o.0] 0.1} 0.1 013! 0.17] 0301 0.37] 031! 0.29] 031} o0.28] 0.22] 0.0 o.10] 10
VA~ T 0.08! 0.07] 0101 0.09] 0.06' 0.04] 0.05! 0.07] 0.09: 0.11| 0.09! 0.05]| 0.03! 0.06] 0.10: 0.06]| <0.02! 0.02| 0.11} 0.12] 0.9 0.09]| 010! 0.09] o0.07] o0.12] <0.02] 10
e €0.05! <0.05| <0.05! <0.05| <0.05! <0.05| <0.05! <0.05] <0.05! <0.05| <0.05! <0.05| <0.05! <0.05| <0.05! <0.05| <0.05! <0.05| <0.05! <0.05| <0.05! <0.05| <0.05! <0.05] <0.05| <0.05| <0.05 2
HEIT L €0.003! <0.003] <0.003 <0.003| <0.003! <0.003 <0.003! <0.003| <0.003 <0.003| <0.003! <0.003] <0.003! <0.003| <0.003} <0.003| <0.003! <0.003] <0.003} <0.003| <0.003! <0.003| <0.003! <0.003] <0.003 <0.003] <0.003] 0.03
v <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05] <0.05] <0.05 1
A% A <0.1 -| <04 -| <04 -| <04 -| <04 -| <04 -| <04 -| <04 -| <04 -| <04 -| <01 -l <01 -l <0a| <o.1| <o 1
s <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01] <o0.01] <0.01] 0.1
AN e <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05] <0.05] <0.05] 0.5
0 * €0.011 <0.01] <0.01} <0.01| <0.01i <0.01] <0.01! <0.01] <0.01} <0.01| <0.01i <0.01] <0.01! <0.01] <0.01} <0.01]| <0.01i <0.01] <0.01! <0.01| <0.01i <0.01] <0.01i <0.01] <0.01] <0.01| <0.01] 0.1
&K 6t 0.0005K0.0005 K0.0005 £0.0005 K0.0005 0.0005 K0.0005 K0.0005 K0.0005 £0.0005 K0.0005 K0.0005 £0.0005 K0.0005 K0.0005 £0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 £0.0005 K0.0005 K0.0005k0.0005 K0.0005 K0.0005]_0.005
TVRVKER  Fo.0005K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 £0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 K0.0005 0.0005K0.0005 0.0005 k0.0005] FHH
PCB 0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -Kk0.0005 -k0.0005k0.0005k0.0005] 0.003
Al <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01] <o0.01] <0.01] 0.1
7h7mnfvy <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <o0.01 -| <0.01 -| <o0.01 | <0.01] <o.01] <0.01] 0.1
I s <0.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 -l <o.1 - <01 <o1| <01 3
PUtflpR €0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 - <0.002] <0.002] <0.002] 0.02
(e €0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02] <0.02] <0.02] 0.2
L2=vyunxsy | g 004 -| <0.004 - <0.004 - | <0.004 - | <0.004 - | <0.004 - <0.004 -| <0.004 - | <0.004 -| <0.004 -| <0.004 -| <0.004 - <0.004] <0.004] <0.004] 0.04
LL2-Rrmzsy | g 006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 - <0.006] <0.006] <0.006] 0.06
Li-vousfly | g09 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 | <0.02] <0.02] <0.02 1
YAL2-Y by | g4 -| <0.04 -| <0.04 -| <0.04 -| <0.04 -| <0.04 -| <0.04 -| <0.04 -| <0.04 -| <0.04 -| <0.04 -| <0.04 | <0.04] <0.04] <0.04] 0.4
1,3-vmu7any | (o 002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 -| <0.002 - <0.002] <0.002] <0.002] 0.02
s <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01] <o0.01] <0.01] 0.1
D <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 -| <0.003 - <0.003] <0.003] <0.003] 0.03
TU7A <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 -| <0.006 - <0.006] <0.006] <0.006] 0.06
FTASIVT | g.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02 -| <0.02| <0.02] <0.02] 0.2
LA <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01 -| <0.01] <o0.01] <0.01] 0.1
ERES 0.06 -| o0.07 -| o0.08 -| o0.07 -| o011 -| 012 -| 0.10 -| 0.10 -| o0.07 -| o0.07 -| 0.08 -| o0.07 -] o.08] o0.12] 0.8 10
5o K 0.1 01| 01! <o1| 01! <01 <o1i <] 01! <o <0.ai 0.1 01! <01 <o.i <0a| <ol <oa| <01l <0a| <o.i 01| <0ai <o) <oa| 0.a1] <o.1 8
LA-2A%H | (g.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05 -| <0.05] <0.05] <0.05] 0.5
&R o7t 96| o5i or| oel 26| 23l aa| ol i 29! o7 280 26| 26! 24| 24t 29| 24! 27| 29! 29| 26! 28 21l 31 23 -
20 A 066 053] 0541 059| 045! 052] 040! 043] 071 0.84| 072! 046]| 22! 043] 048! 0.37] 038! 047] 066! 054] 1.301 070 064! 059] 0.5 22| 037 -




